
DETAIL  A
TOP VIEW

DETAIL  A

UNIT WTQTYDESCRIPTIONPART NUMBERITEM

71.282SECTOR FRAME FACE ANGLE, 14'-6" LONGAM1002-14.011

7.462LIGHT WEIGHT STEEL SECTOR FRAME STIFFENERAM1002-14.022

17.2183/16" SECTOR FRAME BRACE PLATEAM1002.013

0.8823/16" BENT CONNECTION PLATEAM1002.024

3.6723/8" SECTOR FRAME PIVOT PLATEAM1002.035

3.9423/8" BOOM GATE ROTATABLE MOUNT PLATEAM1005-10.116

4.824UNIVERSALTOWER LEG "L" BENT MOUNT PLATEAM1029-U.017

1.982UNIVERSAL ANGLE MOUNT PLATE (FOR ANGLE LEG ONLY)AM1029-U.028

2.244HALF CLAMP FOR 2-3/8" TO 5-1/2" ROUND MEMBERAMCS-5.019

0.698GALV. 5/8" x 8" ALL-THREADTR58-810

0.296GALV. 5/8" x 2-1/4" GR.5 BOLT27-4404-00511

0.272GALV. 5/8" x 2" GR.5 BOLT27-4403-00512

0.0718GALV. 5/8" FLAT WASHER27-5370-00513

0.0324GALV. 5/8" LOCK WASHER27-5380-00514

0.0824GALV. 5/8" HEX NUT27-5391-00515

0.1326GALV. 1/2" x 1-1/2" GR.5 BOLT27-4301-00516

0.044GALV. 1/2'' FLAT WASHER27-5200-00517

0.0126GALV. 1/2" LOCK WASHER27-5210-00518

0.0426GALV. 1/2" HEX NUT27-5222-00519

0.768GALV. 1/2" x 2-1/2" x 4" GR-5 U-BOLT ASSEMBLY27-6060-00520

39.521ANTENNA FRAME STIFF ARM KIT (1-7/8" O.D PIPE) (NOT SHOWN)AM103121

A

MATERIAL: DRAWN BY: TITLE:

HOLES: CHECKED BY:

SERIES:
FINISH: DATE: PART WT (BARE): DRAWING NO. SHEET:

OF

THIS DESIGN AND INFORMATION
CONTAINED ON THIS PRINT IS THE

PROPERTY OF NEWAVE TOWER 
COMPONENTS LLC. ANY 

REPRODUCTION, DUPLICATION OR
TRANSFER OF THE PROPRIETARY CONTENT 

IS PROHIBITED WITHOUT 
WRITTEN PERMISSION.

STANDARD TOLERANCES:
(UNLESS OTHERWISE NOTED)

FRACTIONS
DECIMALS
ANGLES

±.005"
±1/16"

±.5°

NEW VE
TOWER COMPONENTS.503-792-3739
10910 PORTLAND RD. BROOKS, OR 97305

KY

-

11/20/2012 406.8 AM1002-14

LIGHT WEIGHT STEEL
SECTOR FRAME 14'-6" FACE

TOWER ANTENNA MOUTNING

AS SHOWN

AS SHOWN

HDG 1 1 LB

QTY:
CHK:

3

16

17

18

19

16 18 19

5

4

6

8

10131415

9

7

12 14 15

11 13 14 15

16

18

19

11 14 15

20

2

161819

NOTE: ONLY REQ'D
ON ANGLE LEG TOWER

1

1

3

3

3

2

REVISION HISTORY

REV BY DESCRIPTION DATE

A KY
SEE MODEL PROPERTIES/ 

COMMENTS
2/29/2016


